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BACHELOR OF SCIENCE  

(GENERAL) 

(BSCG)  

Term-End Examination 

December, 2024 

BBYCT-137 : PLANT PHYSIOLOGY AND 

METABOLISM 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any 

four questions from Question Nos. 2 to 8. 

Draw well-labelled diagram wherever 

necessary. 

1. (a) Fill in the blanks : 1×3=3 

(i) Salt-sensitive plants are called ......... . 
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(ii) The plant growth regulator, ............ 

delays the senescence of green leaves.  

(iii) At full turgor, ωψ  of a cell will  

be ......... . 

(b) Choose the correct option from the given 

choices : 1
2

×4=2 

(i) Leaves of Potamogeton-type are 

(epistomatic/ astomatic). 

(ii) (Cobalt/Zinc) is a component of 

Vitamin B12. 

(iii) Cytochromes involved in bacterial 

photosynthesis is of (‘g’ / ‘b’)  

type.  

(iv) (TCA / Calvin) cycle is considered as 

amphibolic.  
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(c) Define the following terms : 1×5=5 

(i) Salinity 

(ii) Bioassay 

(iii) Anaerobiosis 

(iv) Cavitation 

(v) Absorption spectrum  

2. Describe the principal events of Calvin-

Benson’s cycle of photosynthetic carbon 

reduction.  10 

3. Describe the Crassulacean Acid Metabolism 

and its significance to plants.  7+3=10  

4. Provide a comparative account of three 

important pathways for the movement of water 

from epidermis to the endodermis in a primary 

root of a terrestrial plant. Substantiate your 

answer with a labelled sketch. 10 
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5. (a) With the help of a schematic diagram, 

describe the ultrastructure and 

organization of mitochondrion. 5   

(b) Discuss pentose-phosphate pathway with 

the help of a flowchart.  5 

6. (a) Describe the events of ‘nodule’ formation 

during biological N2-fixation. 5 

(b) Discuss the structure and functional role of 

nitrogenase in N2-fixation.  5   

7. Describe the Transpiration Pull and Cohesion 

Tension Theory to explain the ascent of sap in 

tall trees.  10 
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8. Write short notes on any two of the following :  

5×2=10 

(a) Plant response to osmotic stress  

(b) Gibberellins 

(c) Mycorrhiza 

(d) Münch-flow hypothesis  
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      BBYCT–137 

foKku Lukrd (lkekU;) 

(ch- ,l&lh- th-) 

l=kkar ijh{kk 

fnlEcj] 2024 

ch-ch-okbZ-lh-Vh--137 % ikni dkf;Zdh vkSj mikip; 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % iz'u Ø- 1 vfuok;Z gSA iz'u la- 2 ls 8 rd 

fdUgha p kj iz'uksa ds mÙkj nhft,A tgk¡ dgha 

vko';d gks] ogk¡ lqukekafdr fp=k cukb,A  

1- (v) fjDr LFkkuksa dks Hkfj, % 1×3=3 

(i) yo.k&laosnh ikni ------------ dgykrs gSaA 
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(ii) ikni o`f¼ fu;a=kd ---------------- gjh ifÙk;ksa dh 

th.kZrk dks foyafcr dj nsrk gSA 

(iii) iw.kZ LiQhfr ωψ  gksus ij dksf'kdk ----------- gks 

tk,xhA 

(c) fn, x, fodYiksa esa ls lgh dks pqfu, %  

1
2

×4=2 

(i) iksVkeksthVksu&izdkj dh ifÙk;k¡ (vf/ja/zh@ 

vja/zh) gksrh gSaA 

(ii) (dksckYV @ ftad) foVkfeu B12 dk ?kVd 

gSA 

(iii) thok.koh; izdk'k&la'ys"k.k esa lfEefyr 

lkbVksØkse (‘g’ / ‘b’) izdkj ds gksrs gSaA 

(iv) (Vhlh,@dsfYou) pØ dks ,EiQhcksfyd@ 

mHk;/ehZ ekuk tkrk gSA 
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(l) fuEufyf[kr inksa dks ifjHkkf"kr dhft, % 1×5=5 

(i) yo.krk 

(ii) ck;ks,sls@ tSovkekiu 

(iii) vok;qthfork (,usjksck;ksfll) 

(iv) dksVj.k (dsohVs'ku) 

(v) vo'kks"k.k LisDVªe 

2- izdk'kla'ys"kh dkcZu vi?kVu ds dsfYou&csUlu pØ 

dh eq[; ?kVukvksa dk o.kZu dhft,A 10 

3- ØSlqysfl;u vEy mikip; vkSj ikniksa ds fy, mlds 

egRo dks le>kb,A 7+3=10 

4- ,d LFkyh; ikni dh izkFkfed tM+ esa ,ihMfeZl 

(ckáRopk) ls ,.MksMfeZl (var'Ropk) esa ty dh 

xfr ds rhu eq[; iFkksa dk rqyukRed fooj.k nhft,A 
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,d ukekafdr fp=k dh lgk;rk ls vius mÙkj dh 

iqf"V dhft,A  10 

5- (v) ,d vkjs[kh fp=k dh lgk;rk ls ekbVksdkWfUMª;k 

dh ijklajpuk vkSj laxBu dk o.kZu dhft,A 5 

(c) ,d izokg fp=k dh lgk;rk ls is.Vkst&iQkWLiQsV 

iFk dh foospuk dhft,A 5 

6- (v) tSfod ukbVªkstu ;kSfxdhdj.k ds dky esa ^xazfFkdk* 

fuekZ.k dh ?kVukvksa dk o.kZu dhft,A 5 

(c) ukbVªkstu ;kSfxdhdj.k esa ukbVªksftust dh 

dk;kZRed Hkwfedk vkSj lajpuk dk o.kZu dhft,A  

5 

7- yEcs o`{kksa esa jlkjksg.k dks le>kus ds fy, 

ok"iksRltZu vfHkd"kZ (iqy) vkSj llatu ruko fl¼kar 

dk o.kZu dhft,A 10 
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8- fuEufyf[kr esa ls fdUgha nks ij y?kq fVIif.k;k¡  

fyf[k, %   5×2=10 

(v) ijklj.kh ruko ds fy, ikni vuqfØ;k 

(c) ftcjSfyu 

(l) dodewy (ekbdksjkbtk) 

(n) eqUp&izokg ifjdYiuk 
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